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Rs. 561 is to be distributed among A, B,

C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C.
What is the share of B in this ?

(a) Rs. 73 (b} Rs.67
(¢) Rs. 76 (d] Rs. 80

561 To @ A, B, C ¥ 59 vor o
FAT £ fF A T B ¥ 120 Fo AfDF Ten
C ¥ 120 %o 9 fAe| 398 B &1 W
famm & ?

(a) 73 %e (b) &7 Fo

[c) 76 %o (d) 80D Fo

Fa:b=3:4and b:c=4:7 then
u+b+c=?
e

@ 1 ) 2
fc) 3 (d) 7
g a:b=3: 4TI b:c=4:7TE, @

at+b+e
C

(&) 1 (b) 2
fe) 3 (dy 7

Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?

(@) 21 (b) 24
() 28 (d) 84

T w3 ;4 F U # # ey o
YT FAE 84 €| T § 9 weA
a1 grfy ?

(@) 21 (b) 24

(c) 28 (d) 84

A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In
how many days can B alone finish the
work 7

(a) 24 (b) 20

e} 18 (d) 22

7

(D-3)
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AT o @ 12 &9 4 wAa w
W &1 A T2 B Mooy 5@ 8 feq 4
IS @Y W &1 B 3(dell g9 @1d B
R A e g g ?

{a) 24 (b) 20
() 18 (d) 22

A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days. After that B
was put on the job in place of A. In how
many days the work was completed in
all ?

fa) 12 days {b) 10 days

(c) 6&days (d] 8 days

aAfdd od @ 1o Ra ¥ B, 15 Ra
ar ¢, 20 RBF 4 @1 F wEA 21 A
e ¢ femv 2 fgg ot fvar | aeavEq
AT WF W B B BE W A fEm
a1 | He ey B e RE A g
B 7

@ 1239 (b) 10 f&F

) efda @) 8fa=

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of
110 km more than Car A in 9 hours,
The ratio of the speed of car A and car B
is respectively :
fa) 28:31 (b) 29:32
e} 55:2 (d) 62:55

TN A 7 448 o o T 8 ¥ § T4
FAMFRBAOUEHBNA T 110
forito s o0 70 BT FR A TT FR

B @ 7T W ST HHE —
(@) 28:31 (b) 29:32
(c) 55:2 (d) 62:55
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A lent Rs. 5000 to B for 2 years and Rs.

3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is
the rate of interest ?

fa) 5% (b] 7%
€) 8% (d] 10%

A 7 B ® 5000 o 2 T @& {30 @ C
T 3000 o 4 TH & A0 TERY @
@ U® B EY 9 wur Bl ewH eH
Tl | & B WY A g 2200 Fo WK
fard | = & Ot ex fsaT 2 7

b} 7%

(d} 10%

la] 5%

(c)

A sum of money amounts to Rs, 8028 in
3 years and Rs. 12042 in 6 vears at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

(a)
(c] Rs.5643 (d) Rs. 4596

s A= wfoem = Y 9% 3 79 A
TH W 8028 B W & R 6 a6l #
12042 ¥o B Wl 8, W& AT qH
wY § WA B &) qe i g g ?

(b) 45860 Ho

2%

Ra. 5352 (b) Rs. 4569

{a) 5352 %o

(c)

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

5643 Vo (d) 4596 %o

faster, he would have taken 4%
minutes less. Find the distance.
(a) (b) 68 km
(c)

66 km

76 km (d) 72 km

(D-4)
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Td @fdd A "gihd g (@ AlEs
T T W £ afE 78 6 fEle sgveEr
g Femm o 99 8 fAde afoe @
gvy, Ak 95 4 e /uver & Ferm

ﬁ’fﬁﬂ4%ﬁﬂ€$ﬂﬂ#ﬁli‘;ﬁ?ﬁ
IRy |

(@) 66 f&HHle (b) 68 f&FHle
(c) 76 f@Hle (d) 72 fE@ile
(257 -1.68)=2

(a) 023 (b) 041

c) 06 (d) 038

(257 -1.68) %1 AT 7T & 7

() 023 (b) 041

() 06 (d) 0.8

Junk E-mail is also called

(a) Spam (b) Spoof

(c) Sniffer seript (dl Spool

S $d B g8 N FET e ?

(@) w (b) wE

() ¥R fore (@) @

Data transfer rate in networks or

modems is measured in

(a) Bits per minute
(b) Bits per second
() Bandwidth

(d) None of the above

Yeqed W AieR ¥ STel WIFERERY &Y
ATy W &

(a) fRew ol fime #
b) fIew ufy dsve &
(c) delsy H

(d) SR # F HE A
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13.

13.

14,

14,

15.

15.

16.

A video consists of a sequence of

(a] Frames (b) Signals
(e] Packets (d) Slots

EEGINA

(a) W (b) FTrers
lc) UdcH (d) ¥eleH

Which of the following is/are word
processing software ?

(8) WordPerfect (b) Google Docs
fc) MS Word {d} All of these

frfafEg # @ oF-w U= wSuweE
HiveR & ?

(a) TIIHIE (b) A Sfed

) MSTE (d) =8 | |

The types of software used to carry out
tasks, such as writing a letter, is called ;

(a) GUI software
(b) Utility software
{c) Application software

(d)
TE wivedm fow el Ene @1 W

o & forg wan fegr o B, o
g3 e, weam & ¢

System software

fa) GUI Hgeayw

(b) Tfefed wivedaw
() Tel@Ie Higeddy
(d) Fres dived

Which of the following is not a computer
language ?

(a) BASIC
(¢} LOTUS

(b) COBOL
{d) FORTRAN
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o % B30 Fgex 9 W A €7
(a) BASIC (b] COBOL
(c) LOTUS [d] FORTRAN

Which of the following is not a web
browser ?

‘I:'ahol::,

(a) (b) Opera

(e) {d] Mozilla firefox

fFr=fafen & | Fi—1 v 99 7o
R

(&) ATG
€ M

Chrome

domain is usually used for
educational purpose.

(a) .in (b) .org
e} .com (d) .edu
e ST AR W fREm
el & foy Wyt BT 2|
[a] .in (b) .org
{e] .com (d) edu
Which of the following components of a
computer  system, manages and

coordinates the operation of all the other
components ?

(@)
(b}

Input Unit

Output Unit

{c} Control Unit

(d) Arithmetic Unit

= A | o9 ey Rren § e
F Wi ues! @ vERE g Haed o
THEAT & BTl B B 7

(a) TYE THE
(b) SNTYE THE
(c) Wgred FHIE
(d) RS g
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23.

JPEG stands for

{a) Joint Professional Experts Group
{b) Joint Program Evaluation Group
{c} Joint Photographic Experts Group

{d] Joint Photographic Experienced
Group

JPEG @1 faem 8-

(@) TATEE WIHYEE YEETEH 4

(b} SETEE YIATH FEEYUA U9

() THTEE WEBG EETEs qu
[d) WIEE WEhE TEEAReSE I
URL stands for

(a) Uniform Research Limited

(b} Uniform Rescurce Locator

{e] Uniline Resource Labs

{d) Uniform Research Locator

URL &7 w8

(@) IFERE R fofes
(o) e R Fraes
() Ffemes R dt=m
(d) FfFeM e ddbey

Spreadsheet files are generally stored
with an extension-

(a) .doc (b) .xsl
(g .xcl (d) .xlsx
@ Y Heiie kit ©1

(a) .doc {b) .xsl
) .xel (d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(a] Box (b} Cells
(c) Line (d} None of these
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23. weve ¥ ofFal o = ¢ ufteges
w wEl el & —

() @rad (b) &g
¢} ®I= (d) =9 BIE FET

24, iz a compreesion technology for
transmission of video,

(@) JPG (b) MP4
(c) MPEG (d) 3GP
24, e, BNEAT & HEAWRY F U TdEH
TEHNE B |
(&) JPG {b] MP4
[c) MPEG (d) 3GP

BB iusimamii is a chip which performs
arithmetic and logical instructions in
CPU.

(a) Main memory
(b) Microcontroller

(¢} Microprocessor

(d SDRAM
25, . UF T B W WG AR

sitw Jiftres e fFepfes ot 21

(@) FF AERI

(b) FTEHIDE R

(c) FTESHETEEN

(d) SDRAM

Direction {26-29) : Read the following
information carefully and answer the
guestions given below it :

Six persons A, B, C, D, E and F are
sitting in two rows, three in each.
E is not at the end of any row.
D is second to the left of F,

C, the neighbour of E, is sitting diagonally
opposite to D,

B is the neighbour of F.

(D-6}
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26. Which of the following are sitting
diagonally opposite to each other ?
ja) FandC (b) Dand A
fc) AandC (d} Aand F

27. Which of the following are in the same
ToOwW ¢
ja} AandE (b} Eand D
[t} Cand B [d) Aand B

28. Which of the following are sitting in one
of the two rows ?
(a) FBC (b) CEB
(e} DBF (d) AEF

29. After D and E interchanging seats, who
will be the neighbours of D in the new
position ?
(a) Cand A (b)] Fand B
{c] OnlyB (d) OnlyA

frdwr  (26-29) : Fr=fefae ga=nl =
wruTgEE 9§ ok A Ry T wwE @

TR ¢

B8 &fda A, B, C, D, E 3R F =1
dfaeat § 42 € wele ufte o & afee 82
&

E f&e off ofdm & e o =8 der 2
F & 9% T=% 8% &t p do1 2

EFUEHCHT R W DD U & RS
et ol Ser &)

F & U§ B 99T 21

26. fefoian # & #F-w & TN B
| el e der @ ?

FaRcC
AdRC

(a) (b) DRA

(c) (d) ARF
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frefofted # 9 &9 o & 9fFg § 92
g7
&) ARE b) EafRD
) C3RB (d) A3RB
fFeiferfiaa § & ®9—ar 57 ol & 9
TEHAE E?
() FBC (b) CEB
(c) DBF (d) AEF

D 3R E & WHE ¥ sEen-gget &
g, YU WM QY D % W S deT 8 ?

(a) c3RA (b) FalRB
(e) ®IAB (d) Pae A

A and B are brothers. C and D are
sisters, A's son is D's brother. How is B
related ta C ?

{a) Father (b) Brother
c) (d)

AMRBEE Bl CcaRDgsd &) A =
421 D F1 9 £1 B, ¢ ¥ 9 wEw
Heftra & 7

o

Grandfather Uncle

(b) g
(d) =

(a)

(<)

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is
Arelated to D ?

(a)
()
AB3dRcEAEID E T UE 2 3R
E, B @ %21 | A, D © 59 wor
wWaeg & ?
(@) @BA
Gl

(b) Cousin
(d) Aunt

Sister

MNiece

(b} HHET FET

(c) (d) #HT
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32. A and B are married couple in which B
is husband, X and Y are brothers. X is
the brother of A. How is Y related to B ?
(a)
(b)
(e}
(d) None of these

A 3k B fRafRe oer & ord B oy
EiIxsywE &I x, AamaE 21y,
B Y 5y vor Wi 2 ?

() T (b) TS
[c) W W (d) 4 FIE AL

Direction (33-35) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

33. BRIGHTER

Brother-in-law
BErother

Cousin

32.

{a] One (b) Two

[c) Three (d) Four
34, HACKLE

() One (b} Two

el Three (d) Four
35. FICKLE

(a) Two (b) Three

{c) Four (d) Five

o (33-35) : F=fofa 4 & v
e # Ry o o A 9t @ U e ore
g fome 9 o & ool & R fF afeh
goferen # gua 49 8 8 7

33. BRIGHTER

ot
G|

(b) =T
(d) =R

(&)
(c)

102
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HACKLE

(a) UH (b) &

(¢) o (d) ¥R

PICKLE

fa) ®I (b) @

(¢ ®R (d) dfe

Soaps clean surfaces on the principle
based on

) wviscosity (b) floatation

[c) elasticity (d) surface tension

WY & ENT HOS| @ WH DX DI
fagr e 2

(@) FIEAT ¥
c) HTOTERITT ¥

Which one of the following waves is used
for detecting forgery in currency notes 7

(&)

(b) =94 O
(d) 9 T91T 9G¥

Ultraviclet waves

(b) Infrared waves
le) Radio waves
(d} Microwaves

F Al H STerrel # UgErE @
% foro fefafEa § 9 s9— @@l &1
WO BT 8 7

(@) TETETAT @A (b) SrEvEd oeit

() XMW @T  (d) HeH A

Which one of the [ollowing is the
chemical formula of gypsum ?

(a) CaSO,-2H,0 (b) Ca,SiO,
() (d) caso,
Feafofas % ¥ s fRream @
ITaRE gF 2 ?

(a) CaSO,-2H,0 (b) Ca,SiO,

(c) CasS0,

2CaS0, -H,0

2CaS0,-H,0 (d)
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Thyroid gland produces a hormone

called ‘thyroxine' which

[a) controls blood glucose levels

(b} controls ovulation

{c) controls metabolic rate

(d) maintains pregnancy

yag (wmigs) oty CugRifeE S

U BIAM @1 Sedrgs wedl 8, @1

(a) Vo ¥ @IS $ W @ At
EaGIEA

(b) ST (sfegereE) o1 M
F B

(c) wuEdl &R & BT w2

(d) TTTERT BT FAY @A # |

Precursor of which one of the following

vitamins comes from P - carotene ?

(a) Vitamin-A (b} Vitamin- C

() Vitamin-D  (d) Vitamin- K

freforfen fafet § @ W e &1

HIH p- BN | W BT B 7

(@ fFETf=- A

v fEEfEE—c

(c) M- D

(d) fEeIfE— K

Who among the following was the

founder of the Young Bengal Movement ?

{a)] Henry Vivian Derozio

{b) David Hare

(e} Dwarkanath Tagore

(d) Prasanna Kumar Tagore

(B-8)
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T G A= @ WaHE [AefeiEd
H W HE gy ?

(@) T Rfme R

b) e Bax
(c) ENEETY SN
(d) WHS FAR SR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan

(b) British in India

[c}] Japan

{d) Russia

wRdE s W/aree R Wi @

Tor e /fowe five @ed @ R
fragr oy oy ?

(a) STEAT AT STATH

(b) W H ey
(e) T
[@ =

Who is the Current Chairperson of the
National Women Commission ?

{aj Mamta Sharma

{(b) Rekha Sharma

fc) Vijaya Kishore Rahatkar

({d) MNone of these

wga wfigen s @ adwe semen
&8 ?

(a) AT A

(b) Y& T

(c) Ao feiR wEIEaR
() T W BIg TE
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on which one of the following rivers 7

{a) Godavari {b) Krishna
(e} Kavery {d) Mahanadi
AR WeR oRdor, Pt
Afeat & | fbw v uv e & 7
(a) ST (b) FwT
(c) T (d) wETET
Which one of the following States in 47,
India has the longest coastline ?
{a) Odisha (b) Tamil Nadu
[e)] Gujrat (d) West Bengal

g & Frefafaag & @ fow owg §
ey e o gevaEr & 7

la) e (b) aferTg
fe) oI (d) uf¥EH g

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

(a) Article- 21 and Article- 446
(b} Article- 32 and Article- 226
[c] Article- 44 and Article- 152

(d) Artcle- 17 and Article- 143

W WY W e gAfderss @ oo
B W TN B, B0 E P

446

(b) FIEPE— 32 YT ITWE— 226

152

143

(D-10)
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Who among the following can attend the
meetings of both the Houses of
Parliament while not being a member of
gither House ?

(a) The Solicitor General of India
{(b) The Vice-President of India

{c)] The Comptroller and Auditor

General of India

([d}] The Attorney General of India

woe & et ff we= & wew 9 B
v W1, Fr=fefeg § F &9 99g ¢ 4
HEAl B do@ § SuRug e Tear & ?

(@) WRT T AifeRey g

(b) N FT ISR

(c) WNE @ =@ Ud Asreardies
(d) WRT @ AErFATgae

Which among the following is not a basic
feature of the Constitution of India ?

(a) Fundamental Rights
(b} Independence of Judiciary
[c} Federalism

({d] The unguestioned right of the

Farliament to amend any part of
the Constitution

Frefafes & & F9- 9ra @ dfaas
@1 reege e € & 7

(a) T FEBR
(b) TATHUTITT T WS
(c) WUarg

(d) WEERTT ® R A9 9T W weeE
Fv ¢ wag @ [ afiw
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49. According to the Census 2011, the can create a society where freedom is real for

density of population in which one among

the following States is the lowest ?

(@ Sikkim
(b) Nagaland

(e} Arunachal Pradesh
{d} Mizoram

49. 2011 ® WETUAT @ AR fAefafag
veat ¥ @ fFw www § wEeer @

T A 8 7

(a) FHfeerm
(b ATICTS
(c) STHITHA HEY
(d) FeRH

50. Which one among the following
countries was the top contributor to
India's total FDI for the year 2023-24,

{a) Mauritius (b) Singapore
(c) USA (d) Japan

s50. fa=fefaa # & oF—91 v of 2023-
24 # YNNG & FHa UHoSloAEo #
w4t drremeal o9 o7 ?

(a) Hif (b) FamgR
) YoTUHoTo (@ W

Directions (51-54) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASBAGE

The rule of the road means that, to
protect everyone's freedoms, we must
sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we

everyone, We must preserve both our
individual freedom and our social freedom,
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if I were to say my child should

have no education, society would step in and
insist that my child must go to school,
whether [ like it or not.

51. What does “the rule of the road” suggest
in the passage ?

{a] Freedom should not be restricted
at any time,

() Individual freedoms must
sometimes be limited to protect
everyone's freedom.

(e} Only policemen have the right to
restrict freedom on the road,

(d) Freedom cannot coexist with rules,

52. According to the passage, when a
policeman stops traffic, he represents

(a) tyranny (b) power
(c) freedom (d) fear

33. The author suggests that society would
intervene if

{a) 'a parent wants his child to attend
a specific school

(b) a parent insists that his child
should not receive any education,

{c} & child prefers studying science
over arts.

(d} & child wants to study abroad.

54. What is required to maintain both
individual and social freedom, according
to the passage ?

(e} A strong government.

(b) Complete individual freedom
without limits.

(e} A balance between individual and
social freedom.

{d] Restrictions on only
freedom.

social
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Directions (55-59) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
givern.

55. Ostentation

(a) Calmness (b} Equanimity
lc) Declaration (d) Pageantry
56, Primordial

(a] Feeling of elation
{b) Small
lc) Elementary
(d) Daunting
7. Massive
{a] Enormous {b) Erroneous

[c) Hazardous {d) Perilous

58. Stubborn
{a) Observant {b) Obnoxious
(c} Obstinate {(d) Corpulent

59, Astronomical

la) Exorbitant (b} Commercial
(#) Durable (d) Illogical
Directions (60-64) : Choose the

alternative that is most nearly opposite in
meaning to the given words.

60. Anathema
(@) Appreciation (b) Cursed

{c) Protection {d) Obstacle
61, Opague
(a) Vague (b) Firm

ic) Transparent (d) Poor

62, Belittle
(a) Allure (b) Disturb
e} Ascend (d) Magnify

63. Inclement
(&) Fleasant (b) Stormy
{c) Feeble (d) Dignified
64. Vanity
(a)  Humility (b) Pride
fc] Ostentation (d) Pity

Directions (65-67) Choose the
alternative which best expresses the meaning
of the given idioms /proverbs :

65. To move heaven and earth
(&) to pray earnestly -
(b) to make every possible effort
{c) to sing beautifully
{dl None of the above
66. Tojump the gun
{a) to do something without finishing it
(b) to try and harm someone

fc) to do something before the
appropriate time

(d) None of the above
67. To fly off the handle

{a) to dislocate

{b) tolose one's temper

(c) to take off

({d] to be indifferent

Directions (68-70) : Out of the given
alternatives, choose the one which can best
be substituted for the given words or
sentence.

68. Constant effort to achieve something.
{a) Patience (bl Vigour

{c)] Enthusiasm [(d) Perseverance
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69. Words inscribed on the tomb.
(al Eulogy (k) Epitaph

[c) Memoir (d) Eloguence

70. Life history of a man written by himself,
(a) Biography (b} Autobiography
(c} Calligraphy

fEe  (71-78) © Feafafea 4 @ g8
qeAl GTel TS @1 9 Bifag—
71. (a) daER® (b) EEIRE

c) waele (d) TaBIRe

(d) Bibliography

72. (a) WrgHE (b) WA
(c) WTEHTE (d) IRIETHE
73. (a) WS (b) STHEEE

(c) seaRa (d) S
ST (b) FTFETA
(c) SrFEETT (@) FFHT
75. (a) forergfe (b) SEireaI
fc) arTreaTaRn (d) arfereTgife
fdw (76-80) : Fmfafad v waEl &

74, (a)

fow ve e wwe Ry U R § § PH-
76. Tore@ W 7 B
(a) 3T (b) 3
(c) &y (d) fewr
77. WA B TS 7@ qre—
(a) R (b) forsmyg
(c) A (d)
78, TE IR W ARG 8-
(&) TER (b) wmEEE
() IR (d) aFetfr®

GET IT ON
Google Play

79. O fai @ fRg amer 8-

(a) fEESHR (b) aAfREwHT
(¢ feddi (d) e
80. «UTET WA aTel—
(a) 39w (b) g
(c) @ (d) 3=
frdw (81-82) : fywforfes  Heravi/

wrpifeegl &1 aef g e Ry Ty e § 9
T
81. T HI B 7 HIA FT e -
(a) WA ¥ UE W
(b) @A T
(c) EAT e BT
(d) e T
82, ‘st TEmT & af 8-
(b) €@ 3
(c) T (d) =TT He

fréwr (B3-se) : Frafafam smover =+
i ohEd @ [AENEER 8, Ry Ty Reedr §
a ghe-

TS USIAET @ g9 H aud o
AU W W APl T W @ ufy 9 efix
AP Wew B BT B | 98 U U, A
s 3R wrgwr @ fag wrt @ Seat
TR B Wag TR war 2 fw dm oS
frafat @ geg & 78 Sewd e =9 enh
9 W, W B} HTEl gE-wmin e
wifg e & fay @ dom &) S sk
widws fem @ fam s wear @ s

(a) O
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£ 981 5 wHar| 98 9E 99 §W 9 &
v wen H aRE el 8 fF ouw ey 9
il 1 @ P s B AR B aH
W fer = o =g ¢ fou @9 e &

B UEWeN oFfAd W@ SO (@ed
AN BN T, AU WEW @ Uy w9
7@ ArSHR 99 9 7§ |

83, W S @ qod B—
(@) ot W
(b) TG AT
(c) YT Soad wWiaA
(d) S E—eE
84. TR & WE HHH B
(a) WS HES
(b} TSR
) W & Wiy e
(d ¥ P gE-wik

85, UH® WEIMHHT # g5d H AMHAE B
&

@) =w # walg & forg
by =w @ gu-wi @ o
() =T & HEr & forg
(d) T B " b o

GET IT ON
| Google Play
86. gErfda URT @l §-

@) it B Frawe B @ g
(b) IO =g e & forg

(c) Ifem & &g T T forg
@ T & B g e 2

fade (s7-88) : fy=fafas w=f &
el v @ "uH 949 B U fawedl |
H Bifeg —

87. Hi=
(@) T (b) f8
) faes (d) T
88, ol
(a) FHT (b) wr=A
(c) T (d) arEe

fidy (8o-00) : fr=fefen @l @
e e &1 999 whe fRy v fawedt ¥ 9
i

B9, RUTHR
(@) GTEHS (b o=
{c] HIARHS (d) HTHF
g0, afr
(a) WEA AT (b) I
(c) o (d) ez
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Note : English Version of the instructions is printed on the First Page of this Booklet.
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